Division par Puissances de Dix (D)

Trouvez chaque quotient.

16 -0,1 = 28+0,1=

8 +0,001 = 89 + 0,001 =
11 +0,001 = 14 +-0,1=
12 +0,01 = 20+ 0,001 =
53+0,001 = 91 - 0,01 =
47 - 0,1 = 73 +0,01 =
83+0,1= 20+0,01=
36 +-0,1= 75+ 0,001 =
54 + 0,001 = 17 - 0,1 =
82 + 0,001 = 54 - 0,01 =
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Division par Puissances de Dix (D) Solutions

Trouvez chaque quotient.

16 + 0,1 =160 28 + 0,1 =280

8-+ 0,001 =8000 89 + 0,001 =89 000
11-+0,001 =11 000 14 - 0,1 =140
12+0,01 =1 200 20+ 0,001 =20000
53 +0,001=53000 91-+0,01=9100
47 +0,1 =470 73 +0,01=7300
83 + 0,1 =830 20+0,01=2000
36 +0,1 =360 75 +0,001 =75 000
54 + 0,001 =54 000 17+0,1=170

82+ 0,001 =82000 54 +-0,01=5400
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